SECTION 3 | Test 5 Schofield & Sims

1 100-28=9x 1 Find the difference between the sum
2 250000= " million o of 6 and 7 and the product of 6 and 7.
3 18p+19p+23p=¢f S 2 Which of these fractions are
’ s equivalent to 30%?
33 1. -7 - ~
2m — 75cm cm cm g 0.03 % % D.BJ
5 450gx6= kg kg
6 a 10% of 840 = 3 Caitlin has 25p and Bilfy has 41 P
How much must Billy give to Caitlin
b 30% of 840 = b so that they have equal amounts? D
7 £370+8= pr p pr P 4 A jug when -?1 full holds 720ml. How
8 3minS0s= s 5 many millilitres does it hold when it is
& 12 1= a  full a ml
3
10 3.0x08= b g full? b ml
11 3.050l+ ml=4l _ ml 5 Atrain journey takes 1h 38min.
: If the train departs at 11:30 at what
12 205= % a = % time does it arrive?

S 6 Oliver faces SW. In which direction

is he facing if he turns
B Answer 5 :
a 90° clockwise

1 Which of these numbers are b 45° anticlockwise? b
factors of 54?

- 7 a Find the area
| 4567 89| i ofoneface. a
[s5]
2 How many 5ps are there in £3.65? _ 5ps S b Find the area
. \d of all the faces
3 What is the average of S = of the cube b
Sy nA g v
200ml, 250ml, 150ml and 120ml? =5 ml
‘ 8 A customer paid 84p for 300g of
4 Write each of these scores as grapes. Find the price for 1kg. £
a percentage.
al% autiof o5 a 9% 9 Which of the following numbers
=~ do not change in value if the zeros
b 16 out of 50 birese o % are omitted?
5 How many metres are there 0.158 0350 0.590 1.506
in 1.65km? 4 [j :‘
6 Increase £50 by 25%. L AT 10 The perimeter of a rectangle is 54cm.
_ Its length is 18cm. Find
7 How many hours and minutes from e
10.40 am. to 12.50 p.m.? h  min a its width At
8 15 of 5m = 350cm. Find 2 of 5m. cm | b its area. b
9 How many hundredths are there in 11 Find the smallest number which
three pOint zero four? hundredths must be added to 403 to make it
: exactly divisible by 8.
10 200g cost 38p. Find the cost of 5kg. p

: 12 What is the distance in cm from
11 635+ 7. Write the answer to the Y to 77 v

nearest whole number.

12 In this right-
angled triangle,
what is the

150° size in degrees
of the angle
marked A?

A6
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1 Write as a decimal 10 + 355 + 7500 1 The approximate population of a city
2 31251= " ml ml is forty thousand more than 5 million.
oo What is the approximate population?
3) 5 of £1.80="p p 2 Jessica collected 50p in her money box.
4 10% of twenty thousand = She has seventeen 1ps, nine 2ps and
some 5ps. How many 5ps has she? ps
5 38mm +26mm +40mm = m am 3 480 men, women and children went
= 104 to a concert. From the diagram
find how many
7 002x5= a men a
g8 skg=1350+ 9 g b women b
9 3h- l;—h — min min ¢ children C
B a70x8=£ ¢ were at the
concert.
1 025+ =0365 4 The perimeter of a regular octagon
12 $35:4= $ is 21.6cm. Find in millimetres

a the length of one side a mm
b the length of a side of a regular

5 The price of a ticket was increased

from 50p to 60p. What is the increase

a as a fraction in its simplest form  a
2 100 pencils cost £5.92. b as a percentage of the

Find the cost of 25 pencils. £ original price? b %
6 How many packets each containing

300g can be made from 2.5kg?

1 How many hundreds are there in
thirty thousand seven hundred?

3 By how many degrees does the

temperature rise from —10°C to 4°C? e
How many grams are left? S| g
4 Which of these numbers are 7 Write using Roman numerals,
multiples of both 6 and 87 the answer to LXIV x IX.
116 24 36 54 22 == 8 A roomis 13 times as long as it
is wide. If the width is 6m find the
5 Find the mean of 2%, 1% and 315. _ area of the room. m?
- 6 By how many grams is 750g less 9 Eatgiltréangie
than 1kg 150g? e g A i
.' B e e £ ABC 2
: rite
]_ | eight sasl | - / BAC o
a an improper fraction @ C B £ ACB. <
b a mixed number. b — ] 10 Lemonade is made from 3 parts
8 20% of a sum of money is 49p. | water and 2 parts lemon Juice.
Find 100% of the money. = = : a What percentage of the
mixture is water? a %
9 How many days are there in the b Find the volume of lemon juice
seventh month of the year? ' required to make 21 of lemonade. b ml
10 Write as a fraction in its simplest form, 11 [Science Museum What i; the total
ADMISSION admission price
] a 15 out of 40 a £3.40 for two adults

b 28 out of 32 b half-price entry | and two children? £

for children

1 Approximate 17.850 to the nearest 3. L 45 The lawn measures
- ' 12m by 7m. The path
12 - Find in degrees. , around it is 1.5m
(i20° /iy : wide. Find the area
70° 509N % o of the whole garden.

Ly
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Write in digits 5 of 1 million.
85g x 100 = kg
1.06-0.79 =

480mm= m

g of 30p =

905 = 100 =

a 1% of £3.00= p

b 9% of £3.00= p
£0.04 x 50 =
2h+35min=h  min
2.65l= ml
9p+7p+5p+8p=f

3 -
I B=

kg

h min

ml

B Answer

1

10

n

12

Wirite as a decimal the sum of
9 tenths and 37 thousandths.

Find the two missing numbers
in this sequence.

70, 7, 4, 0,07,

What is the average of 15¢cm),
2m and 17cm?

Increase £7.50 by 10%.

By how many twelfths is 12 less
than 232

Write in 24-hour clock times.
a 18min before noon
b 1h after 7.57 p.m.

Find the difference between
: of 25 and 1 of 45.

5% of a sum of money is £0.40.
Find the whole amount.

Approximate
a 10.25| to the nearest litre
b £439 .87 to the nearest £,

Find in millimetres the length of a
line 15mrm shorter than AB.

170em
-

cm

A

What is the cost of 800g at
90p per kilogram?

The area of a rectangle is 66%cm?.
The width of the rectangle is 7cm.

Find its length.

crm

10

1

12

Schofield & Sims

Write in words the number which
is equal to

(3 x10°) + (6 x 10%).

There are 60 cards in a packet.
There are 12 packets and 17 cards
left over. How many cards are
there altogether?

A bill for £4.23 is paid with a £5 note.
Name the four coins given as change.

p p p

A ABC is an

.' isosceles triangle.
C 0 B

How many years apart are these two
years written in Roman numerals?

MCMXLV  MCMXXXIX
Give your answer in digits.

Find the angle at B
and the angle at A.

A plank of wood 7.5m long is cut
into two parts so that one part is
four times as long as the other.

Find the length of each part. m
Train times | YVhich train,
Depart | Arrive GOt e
Ail1oias | i35u]ralickerand
8| 16:18 | 18:00 | ¥ NOW many
i &) minutes? by

The total mass of 12 parcels of equal
mass is 5.4kg. Find the mass of

a four parcels in kilograms and grams a kg
b one parcel in grams. b
The rectangle X has two axes of

symmetry. How many axes of
symmetry has

a rhombus Y a
b the equilateral triangle 7? b

The circumference of a wheel is 45cm.
How many times will it turn in
going 450m?

By how much is it cheaper to pay
for a coat priced at £25 with a
discount of 10%, than with a
discount of 8p per £1?

The radius of this
y Crcle is 0.9 cm.
Find the length of
X the line XY in mm.

_min
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Write in digits 1.1 million.

£0.81 = two 20ps + three 10ps + p D
807 x6=
18km+450m= km m km m

50% of 1.9kg= g

275+7= 1 r
10° =107 =
d % = % a ; %
b -1% — b %
£10- (2 x 46p) = £ £

3 2
Ro*+3+76~
1.51-=  ml=600ml ml
£f0.17 x 8 = £

B Answer

1

10

n

12

Find in degrees the reflex angle to
a 85° a =
b 148°.

How many 50g cans have a total
mass of 2kg?

Decrease £3.50 by 4%. £ =
Approximate

a 91870ml to the nearest litre a. L
b 3.56kg to the nearest 3kg. b kg

What was the date 6 months
before 1 March 20007 _ . =

Divide nine hundred and seventy-two

by nine. e

a 5% of £6.00= p auteie DY
b 15% of £6.00= " p DR —R |
How long would it take to travel |
56km at a speed of 7km per hour? : g h |
Find the cost of 1.75l at 60p per litre. £

Divide a length of 48cm into two

pieces so that one is twice as long

as the other. _am cm

What fraction in its lowest terms is
a £27 of £36 a
b £2.50 of £207 b

Find the area of
the smallest square
into which the
circle can be fitted.

1

10

1"

12

SECTION 3 | Test 8

There were 3500 spectators at a
football match. 30% were women.
How many women were there?

A bottle holds 300ml. Find in litres
the contents of 12 bottles. L

In the diagram there are 100 small
squares. Find as a fraction in its
simplest form the part which is

a patterned a
b unshaded []

¢ shaded. [ C
: |

3.75 % 8 = 30. Write the answers to

a 375x8 a
b 3.75 x 80.

A holiday started on 25 August and

ended on 7 September. For how many
days did the holiday last?

What fraction in its simplest form

is equivalent to

a 06 a
b 0.167

The mean mass of three parcels is 6kg.

Two of the parcels have a mass of
4.6kg and 6kg. Find the mass of the

third parcel. kg
= A sheet of
ﬁi plywood 26¢cm
~ 26an by 8cm is cut into
strips 2cm wide.
Find the total length of the strips. cm
1ml or 1cm? of water has a mass of 1g.
Find the mass of water in kilograms
a in a can which holds 131 a kg
b in a tank the volume of which
is 6400cm?. b kg
Seven buns cost £2.47. Find to the
nearest penny the cost of one. D
The circumference of the wheel is 1.5m.
How many metres will
the wheel travel in
a 10 turns a m
b 100 turns? b m

The price of ykg of potatoes was

increased from 30p to 36p. Find the
increase as a fraction in its simplest
form of the original price.
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ANSWER
100 — 28 = 9 x 8
250 000 = “ million 2 million
18p + 19p + 23p =& £ 060
1.2m —75cm = ™ cm 45 cm
450g % 6 = kg 2.7 kg
(2) 10% of 840 (3) 84
(b) 30% of 840 b 252
£3-70 = 8 = prem." p 46p rem. 2p
3minS0s = 5 230 ¢
1-3-g :
3.0 x 0.8 2.4
3.050 litres + mf = 4¢ 950 mf
(a) 0.55 = Yo m
(b) 7 = = % (b) 4,
ANSWER
4 5 6 7 g 9

Which of these numbers are factors
of 547 6 ____9"
How many FIVES are there in £3-65? 73
What is the average of
200 m¢, 250 m¢, 150 m¢, 120 me? 180 m¢
Write each of these scores as a
percentage (a) 5 out of 25 (a) 20%

(b) 16 out of 50. (b) 32%
How many m are there in 1.650 km? 1650 m
Increase £50 by 25%. £ 62:50
How many h and min from 10.40 a.m.
to 12.50 p.m.? 2h 10 min
fnof 5m = 350 cm Find 15 of 5 m. 150 ¢m

How many hundredths are there in
three point nought four?

200 g cost 38p.

304 hundredths

Find the cost of 3 kg. 95p

635 + 7. Write the answer to the

nearest whole one. 91
Find the area of

the triangle.  120cm’

16cm

10

11

12

ANSWER

Find the difference between the sum
of 6 and 7 and the product of 6 and 7. 29

e

P 003 % &% 03

Which of these fractions are equivalent,
to 30% ? 10 0.3

Megan has 25p and Josh has 41p.
How much must Josh give to Megan
so that they have equal amounts? 8p

A tin when 7 full holds 720 mt.
How many mfdoes it hold when

itis (a) 3 full (@) 120m¢
(b) 3 full? (b) 360me
A railway journey takes 1 h 38 min.
If the train departs at 11.30 at what
time does it arrive? 13.08
A boy faces SW. In which direction
is he facing if he turns
(a) 90° clockwise (a) NW
(b) 45° anticlockwise? (b) S
(a) What is the name
(oo of this solid?  (a) cube
> (b)Find its surface
z area. (b) 384 cm?
I
A customer paid 84p for 300 g
of grapes.
Find the price for 3 kg. £ 1:40
Which of the following numbers do
not change in value if the noughts
are omitted?
0.158, 0350, 0.590, 1.506 0.158 0.590
The perimeter of a rectangle is 54 cm.
Its length is 18 cm. Find
(a) its width (a) 9 cm
(b) its area. (b) 162 cm?
Find the smallest number which must
be added to 403 to make it exactly
divisible by 8. 5
A (a) What fraction of
the circumference
@ of the circle is 1
B the arc AB? (a) a
(b) If the angle at
the centre were 40°,
what fraction of the
circumference would |
be its arc? (b) 3
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(A ANERES ANSWER
1 Write as a decimal 1 The approximate population of a city is
10 + o0 + TOOO- ~10.083 forty thousand more than ¥ million.
2 3,125 litres = = m( 3125 m¢ What is the approximate population? 540 000
. 2 A girl collected 50p in her money box.
3 3 of £1-80 54p She has 17 pennies, 9 TWOS and some FIVES.
A s . T e Elew How many FIVES has she? 3 FIVES
a 1% of twenty thousan 200 5 48,0 mien) womeniand
g 38mm +26mm +40mm = cm  10.4cm children went to a concert.
S — From the diagram
6 102 — 43 36 find how many
e I @men (@ 240
J 002 % %0 1 ()women  (b) 180
_ wormen
] kg -=13°9+m9 ___ 3659 () children  (9) 60
9 Th—%h = min 5 min were at the concert.
a The perimeter of a regular octagon
10 47px8=4¢% £ 376 is 21.6 cm. Find in mm
| ' 27m
11 0.25 + _ 0.365 e (a) the length of on? side (a) m
g (b) the length of a side of a regular
12 £35 = 4 £ 875 hexagon of the same perimeter. (b) 36mm
5 The price of a ticket was increased from
50p to 60p. What is the increase 2
B ANSWER (a) as a fraction (@) 5
(b) as a percentage of the original
- How many hundreds are there in price? (b) 20%
thirty thousand seven hundred? 307 = How many packets each containing
2 100 pencils cost £5-92. 300 g can be made from 2.5 kg?
Find the cost of 25 pencils. £ 1.48 How/many/g are left? 8rem. 1009
7 1 litre or 1000 cm? of water has a mass of 1 kg.
3 By how many degrees does the (a) How many m¢ have the same
temperature rise from — 10°C to 4°C? = volume as 1 cm? ? (a) 1 mé
Jd (b) What is the mass of 1 cm?® of
4 |6 24 36 54 72 AL = ol i
8 A room is 1z times as long as it is wide. If the
Which of these numbers are multiples width is 6 m find the area of the room. 45m?
of both 6 and 8? 24 72 = In the triangle
! 1 A :
5 Find the average of 2z, 17and 37 23 @ ABC find UARE 550
6 By how many g is 750 g less than a
1kg 150 g? 4009 - ﬁ ZBCh . 0
- Write 35 eighths as E <ACB. 5>
(a) an improper fraction o 3 40 lawnsandis made from 3 parts
(b) a mixed number. (a) g (b 48 RS coarse sand and 2 parts peat.
i What percentage of the mixture
8  20% of asum of money is 49p. (a)\
Find 100% of the money. £ 245 is sand? @)L 1605k
H inthe (b) Find the mass of peat required
# sec:ru:n:nha:nyo?\‘:ﬁso?‘rfhtehséirli? 31 to make 2 kg of the lawn sand. (b) 80049
s = tal admissi
10 Write as a fraction in its lowest terms Bt '.' Motor Museum “:i:aetfg:&eom; F i
(a) 15 out of 40 : 7 ADMISSION f‘ather e
(b) 28 out of 32. (@) g (b 8 £3:40 | hildren? £ 1020
: children — half price e
11 Approximate 17.850 litres to the
nearest 3 litre. e 12 The/laWn measures
s 12 m by 7 m. The path
12 Find in degrees " around it is 1.5 m wide.
w y =X 130 Find the area of the
s N o 120° whole garden. 150 m?
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ANSWER ANSWER
Wints i Bigures 4 Wite in words the number which is
=oF 1 million 00 000 equal to (3 x 103%) + (6 x 103).
BSa x 100 - B ko 2 ka three thousand six hundred
06— 079 0.27 2 There are 60 cards in a packet. There
5 are 12 packets and 17 odd cards.
£80mm = m 0480 nm How many cards are there altogether?
: os 30D 1= s 737
905 = 100 g 05 3 A bill for £4-23 is paid with a £5 note.
. = —— Name the four coins
Sl AL S ol = = 3P given as change. 0P 20P 5p 2p
B9 of 5300 = i p b) 270 _ _ _
sy Tt i e s = < 4 A ABC is an isosceles triangle.
£0-04 x 50 E 2 Find the angle at B 49°
i+ 35 mmn = h i ih 20 min c £2%°) B the angle at A. 82°
2650 ktres = I mi 2650 mt 5 1 litre of water has the same volume
99 +7p+5p +8=¢ £ 039 as 1000 cm?. What are the volumes
__ = = = ot in cm? of (a) 200 m¢ (@ 200 cm?
e 14 (b)1.7 €2 (b) 1700 cm?
6 A plank of wood 7.5 m long is cut
ANSWER Into two parts so that one part is four
times as long as the other.
Wite 2s 2 deamal the sum of Find the length of each part. 6m 1.5m
S tenths and 37 thousandths. 0.937
Find the two missing numbers in 7 TRAIN TIMES | Which train,
this series. e s AorB, is the
70,7.1,0.07, 07 _ 0.007 A | 1045 | 1235 | Quickerand by
‘mei T B | 1618 | 1800 | Now many
#/nat is the average of =S minutes? B by 8 min
15am, zmand 17 an? 19 cm = A —=—"
: J 8  The total mass of 12 parcels of
Increzse £7-50 by 10%. i £ 825 equal mass is 5.4 kg.
By how many twelfths is 1z less Find the mass of
than 2z 7 7z (@) 4 parcels in kg and g (a) 1kg 80049
Write in 24-hour clock times (b) 1 parcel in
() 18 min before noon (a) 11.42 : = L) =20
() % h after 7.57 p.m, ®) 2027 2 ;s Snler
Find the difference between z of 25 i ¥ z axes of
and 5 of 45 10 ! symmetry.
5% of a sum of money is £0-40. Find ;”?“‘;]ma”y axes of symmetry has
the whole amount. £ g @ the rhombus ¥ (@
Approximate (b) the equilateral triangle 2> (o T
(3) 10.250 litres to the nearest litre (a) 10 ¢ : ,
= 10  The circumference of a wheel is
(b) £439-87 to the nearest £. (b) £ 440 45 cm. How many times will it turn
171 em IN going 450 m? 1000
i e " i
8 11 By how much is it cheaper to pay for
Find in mm the length of a line an article priced at £25 with a
15 mm shorter than AB. 156 mm discount of 10%, than a discount of
What is the cost of 800 g at 90p 8piin the £7 50P
rkg?
PEEe s £2p 12 Find the
The area of a rectangle is 663 cm?. 19 em area of
The width of the rectangle is 7 cm. 1 &t
Find its length, 9; cm S shape. 136 cm?
' 15cm

38
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ANSWER
Wirite in figures 1.1 million. _ 1 100 000
£0-81 = 2 TWENTIES + 3TENS + p_ 11p
8.07 x 6 484
18km+450m=km m M&jom
50%of1.9kg= g B 950
275 + .= rem. irg_m__g
108 — 102 900
Ow=" % 0 99%
£10 — (2 x 46p) = £ ﬂ
15+ 5+ ___j
1.5 litres — mf = 600 m{ __E&r_n_[
£0:-17 x 8 __?_1§E
ANSWER

Find in degrees the reflex angle to

(@)85° (b) 148°. Gy 2759 (b)) 2120
How many 50-g cans have a total

mass of 2 kg? 40
Decrease £3-50 by 4p in the £. £330
Approximate

(a) 9 £870 m{ to the nearest litre (@) 10¢
(b) 3.560 kg to the nearest skg. 32 kg

What was the date 6 months before

1st March 20007 1st Sept. '99
Divide nine hundred and seventy-two
by nine. 108
(a)5% of £6:00 = P (a) 30p
(b) 15% of £6-00 = = P (b) 90p
At 90 km/h what distance is travelled
in 10 min? 15 km
Find the cost of 1.75 litres at 60p
per £ 105
Divide a length of 48 cm into two
pieces so that one Is twice as
long as the other. 2 cm 16 cm
What fraction in its lowest terms is
(a) £27 of £36 3 1
(b) £2-50 of £207? (a) i (b) 8

f;{}b . ;

Find the area O 42} 2

the triangle.

e —

1

12

#

ANSWER
There were 3500 spectators at a
football match. 7% were women.
How many women were there? 245
A bottle holds 300 me. Find in litres
the contents of 12 bottles. 36¢

In the diagram
there are 100
small squares.

Find as a

fraction in its lowest terms the part which is

(a) shaded [

(b) unshaded ] 3 3 3
(c) coloured. (@ 3 (b) 5 (9 PIi

375 x 8 = 30 Write the answers to
(a) 375 x 8 (a)

(b) 3.75 x 80. (b)

3000
300

A sea cruise started on 25th August

and ended on 7th September.

For how many days did the

cruise last? 14

A plan is drawn to the scale of 1 mm
to 50 cm.
What fraction represents this scale?

L
[’
o

The average mass of 3 parcels is 6 kg.
Two of the parcels have a mass of
4.6 kg and 6 kg.

Find the mass of the third parcel.

26 cm
e = A sheet of plywood

E _ 26 cm by 8 cm is
© cut into strips 2 €m
wide.
Find the total length of the strips.

1.4 kg

104 cm

1 meor 1 cm? of water has a mass of1g.
Find the mass of water in kg
(a) in a can which holds 13 litres (@)

(b) in a tank the volume of which is
6400 cm?. (b) 6.4 kg

i ———

7 articles cost £2-47. Find to the

nearest penny the cost of one. 35p

The diameter of this
wheel is 50 cm.
How far in m does
the wheel travel for
1 turn? (C = nd,

= 3.14) 1.57m

The price of ; kg of potatoes was
increased from 30p to 36p.
Find the increase as a percentage of

the original price 209,

Turn back to page 30 and work for the third
time Progress Test 2. Enter the result and the
date on the chart.



